Emad— K i

BOOBT0000040010 =450 RABT (&) M4x10
BOOBT0000040012 A=/, 0 RABT (&) M4x12
BOOBT0000040015 a1=4 0 7RABT (&) M4x15
BOOBT0000040020 a=40 RABT (£) M4x20
BOOBT0000040025 a=40 AEBT (£) M4x25
BOOBT0000040030 a=40 AAEBT (£) M4x30
BOOBT0000040040 =40 RABT (£) M4x40
BOOBT0000040050 =450 RABT (£) M4x50
BOOBT0000040060 a1=4 08 ;"ABT (£) M4x60
BOOBT0000040080 aA=40 RABT (£) M4x80
BOOBT0000050010 a=40 AABT (£)M5x10
BOOBT0000050012 aA=40 AAEBT (£)M5x12
BOOBT0000050015 =40 RABT (&) M5x15
BOOBT0000050020 =450 RABT (&) M5x20
BOOBT0000050025 a1=4 0 7RABT (&) M5x25
BOOBT0000050030 a=40 AABT (£) M5x30
BOOBT0000050035 a=4 0 AEBT (£) M5x35
BOOBT0000050040 a=40 AABT (£) M5x40
BOOBT0000050045 =40 RABT (&) M5x45
BOOBT0000050050 =450 RABT (£) M5x50
BOOBT0000050060 a1=4 08 ;"ABT (£) M5x60
BOOBT0000050100 a=40 AXEBT (£)M5x100
BOOBT0000060008 aA=40 AABT (£) M6x8
BOOBT0000060010 a=40 AAEBT (£)M6x10
BOOBT0000060012 =450 RABT (&) M6x12
BOOBT0000060015 =450 RABT (&) M6x15
BOOBT0000060016 1=408 ;"ABT (£) M6x16
BOOBT0000060020 a=40 AABT (£) M6x20
BOOBT0000060025 a=4 0 AEBT (£) M6x25
BOOBT0000060030 a=40 AAEBT (£) M6x30
BOOBT0000060035 =450 RABT (&) M6x35
BOOBT0000060040 A=/, 0 RABT (£) M6x40
BOOBT0000060045 a1=4 0 7RABT (£) M6x45
BOOBT0000060050 a=40 AABT (£) M6x50
BOOBT0000060060 a=40 AABT (£) M6x60
BOOBT0000060065 a=40 AEBT (£) M6x65
BOOBT0000060070 a1 =% 0 RABT (£) M6x70
BOOBT0000060075 A=/, 0 RABT (&) M6x75
BOOBT0000060080 a1=4 08 ;"ABT (£) M6x80
BOOBT0000060090 a=40 AABT (£) M6x90
BOOBT0000060100 a=40 AEBT (£)M6x100
BOOBT0000080010 a=40 AAEBT (£)M8x10
BOOBT0000080012 1 =%50 RABT (&) M8x12
BOOBT0000080015 2=/, 0 RABT (&) M8x15
BOOBT0000080016 a1=4 08 ;"ABT (£) M8x16
BOOBT0000080020 a=40 RABT (£) M8x20
BOOBT0000080025 a=40 AEBT (£) M8x25
BOOBT0000080030 a=40 AAEBT (£) M8x30
BOOBT0000080035 =40 RABT (&) M8x35
BOOBT0000080040 A=/, 0 RABT (£) M8x40
BOOBT0000080045 a1=4 0 7RABT (£) M8x45
BOOBT0000080050 a=40 AABT (£) M8x50
BOOBT0000080055 a=4 0 AEBT (£) M8x55
BOOBT0000080060 a=40 AAEBT (£) M8x60
BOOBT0000080065 =450 RABT (&) M8x65




BOOBT0000080070 1=% 0 AMEBT (£) M8x70
BOOBT0000080075 1=% 0 AfBT (2) M8x75
BOOBT0000080080 1=% 0 AfBT (£) M8x80
BOOBT0000080085 1=% 0 AfBT (£) M8x85
BOOBT0000080090 1=% 0 AfABT (£) M8x90
BOOBT0000080100 1=% 0 AMHBT (£) M8x100
BOOBT0000080110 1=% 0 AfABT (£) M8x110
BOOBT0000080130 1=% 0 AfABT (£) M8x130
BOOBT0000080140 1=% 0 AfBT (£) M8x140
BOOBT0000100012 1= 0 AMABT (£) M10x12
BOOBT0000100015 1=% 0 AfABT (£)M10x15
BOOBT0000100016 1=% 0 AfHBT (£)M10x16
BOOBT0000100018 1=% 0 AfABT (£)M10x18
BOOBT0000100020 1=% 0 AfABT (£) M10x20
BOOBT0000100025 1=% 0 AfABT (£) M10x25
BOOBT0000100030 1=% 0 AfBT (£) M10x30
BOOBT0000100035 1=% 0 AfABT (£) M10x35
BOOBT0000100040 1=% 0 AMHBT (£) M10x40
BOOBT0000100045 1=% 0 AfABT (£) M10x45
BOOBT0000100050 1=% 0 AfABT (£) M10x50
BOOBT0000100055 1=% 0 AfABT (£) M10x55
BOOBT0000100060 1=% 0 AfBT (£) M10x60
BOOBT0000100065 1=% 0 AfABT (£) M10%65
BOOBT0000100075 1=% 0 AMBT (£) M10x75
BOOBT0000100085 1=% 0 AfABT (£) M10x85
BOOBT0000100100 1=% 0 AfBT (£) M10x100
BOOBT0000120020 1=% 0 AfBT (£) M12x20
BOOBT0000120025 1=% 0 AfABT (£) M12x25
BOOBT0000120030 1=% 0 AfABT (£) M12x30
BOOBT0000120035 1=% 0 AMBT (£) M12x35
BOOBT0000120040 1=% 0 AfABT (£) M12x40
BOOBT0000120045 1=% 0 AfABT (£) M12x45
BOOBT0000120050 1=% 0 AfBT (£) M12x50
BOOBT0000120055 1=% 0 AfABT (£) M12x55
BOOBT0000120060 1=% 0 AfABT (£) M12x60
BOOBT0000120065 1=% 0 AfBT (£) M12x65
BOOBT0000120070 1=% 0 AfABT (£) M12x70
BOOBT0000120075 1=% 0 AfABT (£) M12x75
BOOBT0000120080 1=% 0 AfBT (£) M12x80
BOOBT0000120085 1=% 0 AfABT (£) M12x85
BOOBT0000120090 1=% 0 AfABT (£) M12x90
BOOBT0000120100 1=% 0 AfBT (£) M12x100
BOOBT0000120130 1=% 0 AfBT (£) M12x130
BOOBT0000120160 1=% 0 AMBT (£) M12x160
BOOBT0000120250 1=% 0 AMBT (£) M12x250
BOOBT0000120300 1=5 0 AMBT (£) M12x300
BOOBT0000140025 1=% 0 AfABT (£) M14x25
BOOBT0000140030 1=% 0 AMHBT (£) M14x30
BOOBT0000140045 1=% 0 AfABT (£) M14x45
BOOBT0000160020 1=% 0 AfABT (£) M16x20
BOOBT0000160025 1=% 0 AfABT (£) M16x25
BOOBT0000160030 1=% 0 AfBT (£) M16x30
BOOBT0000160035 1=% 0 AfABT (£) M16x35
BOOBT0000160040 1=% 0 AMBT (£) M16x40
BOOBT0000160045 1=% 0 AfABT (£) M16x45
BOOBT0000160050 1=% 0 AfABT (£) M16x50




BO0BT0000160055 1=% 0 KABT (£) M16x55
BOOBT0000160060 a=% 0 "ABT (£) M16x60
BOOBT0000160065 a=% 0 XABT (£) M16x65
BO0OBT0000160070 a=%0 RABT (£) M16x70
BOOBT0000160075 3=/ 08 KABT (£)M16x75
B0O0BT0000160080 1=% 0 "ABT (£)M16x80
BO0BT0000160090 31=% 0 KABT (£) M16x90
B0O0BT0121000045 3=/ 0 KABT (£) 1/2x45
B0O0BT0121000050 3=/ 08 KABT (£) 1/2x50
BO0BT0121000055 3=/ 08 KABT (£)1/2x55
BOOBT0121000060 1=4% 0 KABT (£) 1/2x60
B00BT0121000065 1 =% 0 XABT (&) 1/2x65
B00BT0121000075 3 =40 KABT (&) 1/2x75
B0O0BT0121000090 3=/ 0 KXABT (£) 1/2x90
B0O0BT0121000100 a=4% 0 RABT (£) 1/2x100
BOOBT0185000038 3=/ 0 RKABT (£)5/8x38
BOOBT0185000050 1=% 0 KXABT (£)5/8x50
B0O0BT0185000065 1=% 0 XABT (£) 5/8x65
B0O0BT0185000075 1=% 0 KABT (£) 5/8x75
BOOBT0185000090 1=/ 0 KXABT (£)5/8x90
BO0BT0185000100 a=4% 0 RABT (£)5/8x100
BO0BT0516500012 d=% 0 "ABT (H#R) 5/16x12
BOOBT0516500016 2=/ 0 XABT (B#)5/16x16
B00BT0516500020 a=% 0 "ABT (H#R) 5/16x20
B00BT0516500025 2=/ 0 XEABT (B#)5/16%25
BOOBT0516500032 a=% 0 "ABT (H#R) 5/16x32
BOOBT0516500038 a=% 0 "ABT (H#R) 5/16x38
BOOBT0516500050 a=% 0 "ABT (H#R) 5/16x50
BOOBT0516500055 a=/ 0 XABT (B#R)5/16x55
B00BT0516500065 1=% 0 "ABT (H#R) 5/16x65
B00BT0516500075 2=/ 0 XEABT (BF)5/16x75
BO0BT0583000016 2=/ 0 XFABT (A#)3/8x16
B0O0BT0583000018 2=/ 0 XABT (A#)3/8x18
BOOBT0583000030 2=/ 08 XABT (B#) 3/8x30
B00BT0583000045 2=/ 0 XABT (B#)3/8x45
B00BT0583000050 1=% 0 "fABT (H#R) 3/8x50
B0O0BT0583000055 a1=% 0 "ABT (H#R) 3/8x55
BOOBT0583000060 3=/ 0 XEABT (A#) 3/8x60
BOOBT0583000065 3=/ 0 XABT (B#) 3/8x65
BO0BT0583000070 2=/ 08 XABT (B#)3/8x70
B00BT0583000075 3=/ 08 XABT (B#)3/8x75
B00BT0583000090 1=% 0 "ABT (H#R) 3/8x90
BO0BT0583000100 1=/ 0 XEBT (B#)3/8x100
B00BT1021000020 1=/ 0 XEABT (A v kBT £) 1/2x20
B00BT1021000025 1=% 0 KXfEBT (A kBT £) 1/2x25
B00BT1021000032 d1=40 RABT (A v BT £) 1/2x32
BOOBT1021000038 1=% 0 KXABT (A kBT £) 1/2x38
B00BT1083000020 2=/ 0 XEBT (A vy FBT £) 3/8x20
B00BT1083000025 1=% 0 "ABT (A v kBT £) 3/8x25
BOOBT1083000032 1=/ 0 XEABT (A v FBT £) 3/8x32
BOOBT1083000038 1=% 0 RXFEBT (A KBT £)3/8x38
B00IBO000060012 1=/-08 74BT M6x12
B00IBO000080015 =40 74ABT M8x15
B00IB0000100018 a1=4-0 74BT M10x18
B00IB0000120022 1=4-0 74ABT M12x22

B00IB0000160027

a=40

7 A BT M16x27




B00IB0116500015 a1=4%0 F7ABT5/16x15
B00I1B0121000022 2=/ 0 7ABT 1/2x22
B00IB0141000012 1=/-08 7A4BT 1/4x12
B00IB0183000018 aA=-70 74BT3/8x18
B00IB0185000027 a=4%0 7ABT 5/8x27
B00IB1121000030 1=/08 7ABT (& 1/2x30
B00IB1121000050 1=/8 7ABT (& 1/2x50
B00IB1121000100 1=450 74BT (& 1/2x100
B00IB1183000030 1=40 74BT (& 3/8x30
B00IB1183000050 1=40 74BT (& 3/8x50
BOOKB0000060012 1=/ 0 BHBT M6x12
BOOKB0000080014 aA=%/0 REBT M8x14
BOOKB0000080015 1=/ 0 RFHBT M8x15
BOOKB0000080020 a=% 0 BHABT M8x20
BOOKB0000080025 1=/ 0 REBT M8x25
BOOKB0000100030 1=% 0 RABT M10x30
BOOKB0000100035 a=% 0 BAHBT M10x35
B0O0TT0000040010 a=/% 0 $8BT M4x10
BOOTT0000040012 2=/ 0 BT M4x12
BOOTT0000040015 1=/ 0 BT M4x15
BOOTT0000040020 1=/ 0 BT M4x20
BO0TT0000040025 A=/% 0 #5BT M4x25
B0O0TT0000040030 a=/%0 #8BT M4x30
BOOTT0000050008 1=/ 0 BT M5%8
BOOTT0000050010 2=/ 0 BT M5x10
BOOTT0000050012 1=% 0 BT M5x12
BOOTT0000050015 1=% 0 BT M5x15
BOOTT0000050020 1=% 0 BT M5x20
B0O0TT0000050025 A=/% 0 #8BT M5x25
BOOTT0000050030 a=/% 0 $8BT M5x30
BOOTT0000060010 2=/ 0 BT M6x10
BOOTT0000060012 d1=% 0 BT M6x12
BOOTT0000060025 1=% 0 #BT M6x25
BOOTT0000080015 1=% 0 BT M8x15
B0O0TT0000080020 a=/%0 8BT M8x20
B0OOTT0000080025 a=/% 0 $8BT M8x25
BOOTT0000080035 2=/ 0O BT M8x35
BOOTT0000100020 1=/ 0 #%BT M10x20
BOOTT0000100035 a=% 0 BT M10x35
BOOUB0000060010 1=/ 0 UBT M6x10A
BOOUB0O000060015 1=%0 UBT M6x15A
BOOUB0000060020 1=4% 0 UBT M6x20A
BOOUB0000060025 =% 0 UBT M6x25A
BOOUB0000060032 1=%0 UBT M6x32A
BOOUB0000060040 1=/ 0 UBT M6x40A
BOOUB0000060050 1=/ 0 UBT M6x50A
BOOUB0000080032 1=%0 UBT M8x32A
BOOUB0000080040 1=4% 0 UBT M8x40A
BOOUBO000080065 =40 UBT M8x65A
BOOUB0000080080 1=/ 0 UBT M8x80A
BOOUB0000100015 1=4%0 UBT M10x15A
BOOUB0000100020 1=%0 UBT M10x20A
BOOUB0000100025 1=4% 08 UBT M10x25A
BOOUB0000100032 1=4% 08 UBT M10x32A
BOOUB0000100040 1=4% 08 UBT M10x40A
BOOUB0000100050 1=%0 UBT M10x50A




BOOUB0000100065 1=4% 08 UBT M10x65A
BOOUB0000100080 1=/ 0 UBT M10x80A
BOOUB0000100090 1=7% 0 UBT M10x90A
BOOUB0000100100 1=%0 UBT M10x100A
BOOUB0000100125 1=4%08 UBT M10x125A
BOOUB0000120050 1=4% 08 UBT M12x50A
BOOUB0000120080 1=4% 08 UBT M12x80A
BOOUB0000120090 1=%0 UBT M12x90A
BOOUB0000120100 1=%0 UBT M12x100A
BOOUBO0116500032 1=%0 UBT 5/16x32A
BOOUB0116500065 1=/ 0 UBT 5/16x32%65
BOOUB0183000010 1=4%08 UBT 3/8x10A
BOOUB0183000015 1=4% 08 UBT 3/8x15A
BOOUB0183000025 1=%0 UBT 3/8x25A
BOOUB0183000100 1=%0 UBT 3/8x100A
BOOUB0183000125 =% 0 UBT 3/8x125A
BOOUB0183000150 1=/ 0 UBT 3/8x150A
B01BT0000080012 K J RABT (£) M8x12
B01BT0000080015 FZ RABT (£) M8x15
B01BT0000080016 K J XABT (£) M8x16
B01BT0000080020 K J NABT (£) M8x20
B01BT0000080025 K J RABT (£) M8x25
BO1BT0000080030 K7 RABT (£) M8x30
B01BT0000080035 kZ RABT (£) M8x35
B01BT0000080040 K 2 RABT (£) M8x40
B01BT0000080045 FJ XABT (£) M8x45
BO1BT0000080050 K2 "ABT (£) M8x50
B0O1BT0000080055 K2 R"ABT (£) M8x55
BO1BT0000080060 K J RABT (£) M8x60
B01BT0000080065 FZ RABT (£) M8x65
B01BT0000080070 k2 RABT (£) M8x70
B01BT0000080075 FJ XABT (£) M8x75
B0O1BT0000080080 K J "ABT (£) M8x80
B0O1BT0000080085 K2 R"ABT (£) M8x85
BO1BT0000080100 K J XABT (£) M8x100
B01BT0000100015 K J RABT (£) M10x15
B01BT0000100016 FJ RABT (£) M10x16
B01BT0000100020 FJ XABT (£) M10x20
B01BT0000100025 K J RABT (£) M10x25
B01BT0000100030 K J NABT (£) M10x30
BO1BT0000100035 K J RABT (£) M10x35
B01BT0000100040 kJ RABT (£) M10x40
B01BT0000100045 K J RABT (£) M10x45
B01BT0000100050 k2 RABT (£) M10x50
B01BT0000100055 K7 RABT (£) M10x55
B01BT0000100060 K J RABT (£) M10x60
BO1BT0000100065 K J RABT (£) M10x65
B01BT0000100070 K J RABT (£) M10x70
B01BT0000100075 K J RABT (£) M10x75
B01BT0000100080 FJ RABT (£) M10x80
B01BT0000100085 K J RABT (£) M10x85
B01BT0000100090 K J RABT (£) M10x90
BO1BT0000100100 K J "ABT (£) M10x100
B01BT0000100110 kZ RABT (£) M10x110
B01BT0000100200 k2 RABT (£) M10x200
B01BT0000120020 FJ RABT (£) M12x20




BO1BT0000120025 KJ AfBT (&) M12x25
BO1BT0000120030 K2 7<ABT (£) M12x30
BO1BT0000120035 K2 AfBT (&) M12x35
BO1BT0000120040 K2 BT (&) M12x40
BO1BT0000120045 KJ AfBT (&) M12x45
BO1BT0000120050 KJ AfBT (&) M12x50
BO1BT0000120055 KJ 7<ABT (&) M12x55
BO1BT0000120060 K2 7<ABT (£) M12x60
BO1BT0000120065 K2 AfBT (&) M12x65
BO1BT0000120070 K2 AfBT (&) M12x70
BO1BT0000120075 KJ AfBT (&) M12x75
BO1BT0000120080 KJ AfBT (&) M12x80
BO1BT0000120090 K 7<ABT (£) M12x90
BO1BT0000120100 KJ AfBT (&) M12x100
BO1BT0000120120 KJ AfABT (&) M12x120
BO1BT0000120200 KJ AfBT (&) M12x200
BO1BT0000160025 KJ AfBT (&) M16x25
BO1BT0000160030 KJ AfBT (&) M16x30
BO1BT0000160035 K2 7<ABT (£) M16x35
BO1BT0000160040 K2 7<ABT (£) M16x40
BO1BT0000160045 K2 AfBT (&) M16x45
BO1BT0000160050 K2 AfBT (&) M16x50
BO1BT0000160055 KJ AfBT (&) M16x55
BO1BT0000160060 KJ AfBT (&) M16x60
BO1BT0000160065 K2 7<ABT (&) M16x65
BO1BT0000160070 K2 7<ABT (£) M16x70
BO1BT0000160085 K2 <fBT (&) M16x85
BO1BT0000160090 K2 AfBT (&) M16x90
BO1BT0000160095 KJ AfBT (&) M16x95
BO1BT0000160100 KJ AfABT (&) M16x100
BO1BT0000200100 KJ AfBT (&) M20x100
BO1BT0121000045 K2 7<fBT (&) 1/2x45
BO1BT0121000050 K2 A<fABT (&) 1/2x50
BO1BT0121000055 K2 AMBT (&) 1/2x55
BO1BT0121000065 KJ AfBT (&) 1/2x65
BO1BT0121000070 KJ AfBT (&) 1/2x70
BO1BT0121000075 KJ AMBT (&) 1/2x75
BO1BT0121000090 K2 7<ABT (&) 1/2x90
BO1BT0121000100 K2 7AfBT (&) 1/2x100
BO1BT0583000016 K J /<&BT (B38) 3/8x16
BO1BT0583000045 K J <&BT (B38) 3/8x45
B01BT0583000050 K J 7<ABT (B38) 3/8x50
B0O1BT0583000055 KJ 7<ABT (B38) 3/8x55
BO1BT0583000060 K J A<fBT (A1) 3/8x60
BO1BT0583000065 KJ A<fBT (A38) 3/8x65
BO1BT0583000070 K J 7<&BT (B38) 3/8x70
BO1BT0583000075 K J <&BT (B38) 3/8x75
BO1BT0583000090 K J 7<ABT (B38) 3/8x90
B01BT0583000100 K2 AfABT (A3) 3/8x100
BO1BT1021000020 K J AfBT (A v kBT £) 1/2x20
BO1BT1021000025 KD AfBT (A v kBT £) 1/2x25
BO1BT1021000032 K J AfABT (v hBT £) 1/2x32
BO1BT1021000038 K2 AfABT (1 v kBT £) 1/2x38
BO1BT1083000020 KJ AfABT (1 v kBT £) 3/8x20
BO1BT1083000025 KJ AfABT (1 v kBT 2)3/8x25
BO1BT1083000032 K J AfBT (A v kBT £) 3/8x32




B01BT1083000038

FJ XABT (v kBT £) 3/8x38

B011B0000080015

FKJ 74BT M8x15

B011B0000100018

K27 74BT M10x18

B011B0000120022

KJ 7A4BT M12x22

B011B0000160027

KJ 74ABT M16x27

B011B0121000022

FJ 7ABT 1/2x22

B011B0183000018

FJ 74BT3/8x18

B011B0185000027

FJ 74ABT 5/8x27

B011B1121000030

FJ 74ABT (RE 1/2x30

B011B1121000050

FJ 74ABT (RE 1/2x50

B01I1B1121000100

K7 74ABT (B& 1/2x100

B011B1183000030

FJ 74BT (& 3/8x30

B011B1183000050

FJ 74BT (& 3/8x50

B01UB0000080010 K2 UBT M8x10A
B01UB0000080015 K UBT M8x15A
B01UB0000080025 K UBT M8x25A
B01UB0000080050 K UBT M8x50A
B01UB0000100015 K2 UBT M10x15A
B01UB0000100020 K UBT M10x20A
B01UB0000100025 K2 UBT M10x25A
B01UB0000100032 K2 UBT M10x32A
B01UB0000100100 K UBT M10x100A
B01UB0000120125 K UBT M12x125A
B01UB0183000090 K UBT 3/8x90A
B02BT0000040008 AT > AMBT (£) M4x8
B02BT0000040010 2T > BT (£) M4x10
B02BT0000040012 27> AMBT (£) M4x12
B02BT0000040015 27> AMBT (£) M4x15
B02BT0000040020 ZF > BT (£) M4x20
B02BT0000040025 AT > FAfEBT (£) M4x25
B02BT0000040030 2T > AMABT (£) M4x30
B02BT0000040035 27> BT (£) M4x35
B02BT0000040040 27> AMABT (£) M4x40
B02BT0000040050 2T > AMBT (£) M4x50
B02BT0000040060 ZF > BT (£) M4x60
B02BT0000050008 AT > AfABT (£) M58
B02BT0000050010 AT > AMABT (£) M5x10
B02BT0000050012 2T > BT (£) M5x12
B02BT0000050014 27> AMBT (£) M5x14
B02BT0000050015 2T > AMBT (£) M5x15
B02BT0000050020 ZF > BT (£) M5%20
B02BT0000050025 AT > FAfABT (£) M5x25
B02BT0000050030 2T > AMABT (£) M5x30
B02BT0000050035 27> BT (£) M5x35
B02BT0000050040 27> AMABT (£) M5x40
B02BT0000050045 2T > AMBT (£) M5x45
B02BT0000050050 ZF > BT (£) M5x50
B02BT0000050060 AT > 7<fEBT (£) M5%60
B02BT0000050065 2T > AMABT (£) M5x65
B02BT0000050070 2T > BT (£) M5x70
B02BT0000050075 27> BT (£) M5x75
B02BT0000060010 27> AMBT (£) M6x10
B02BT0000060012 ZF > BT (£) M6x12
B02BT0000060014 AT > 7<fEBT (£) M6x14
B02BT0000060015 2T > AMBT (£) M6x15
B02BT0000060016 27> BT (£) M6x16




B02BT0000060020 AT 2 ARHBT (£) M6x20
B02BT0000060025 AT 2 RABT (&) M6x25
B02BT0000060030 AT 2 RABT (&) M6x30
B02BT0000060035 AT 2 RABT (&) M6%x35
B02BT0000060040 AT 2 RABT (£) M6x40
B02BT0000060045 AT 2 REBT (£) M6x45
B02BT0000060050 AT 2 ARHBT (£) M6x50
B02BT0000060055 AT 2 RABT (£) M6x55
B02BT0000060060 AT 2 RABT (£) M6x60
B02BT0000060065 AT 2 RABT (&) M6%x65
B02BT0000060070 AT 2 RABT (£) M6x70
B02BT0000060075 AT 2 AREBT (£) M6x75
B02BT0000060100 AT 2 RABT (£) M6x100
B02BT0000080010 AT 2 RABT (£) M8x10
B02BT0000080012 AT 2 RABT (&) M8x12
B02BT0000080015 AT 2 RABT (&) M8x15
B02BT0000080016 AT RABT (£) M8x16
B02BT0000080020 AT 2 AREBT (£) M8x20
B02BT0000080025 AT 2 ARHBT (£) M8x25
B02BT0000080030 AT 2 RABT (£) M8x30
B02BT0000080035 AT 2 RABT (£) M8x35
B02BT0000080040 AT 2 RABT (£) M8x40
B02BT0000080045 AT 2 RABT (£) M8x45
B02BT0000080050 AT 2 AREBT (£) M8x50
B02BT0000080055 AT 2 ARHBT (£) M8x55
B02BT0000080060 AT 2 RABT (£) M8x60
B02BT0000080065 AT 2 RABT (£) M8x65
B02BT0000080070 AT 2 RABT (&) M8x70
B02BT0000080075 AT RABT (£) M8x75
B02BT0000080080 AT 2 RHBT (£) M8x80
B02BT0000080090 AT 2 ARHBT (£) M8x90
B02BT0000080100 AT 2 RABT (£) M8x100
B02BT0000100015 AT 2 RABT (&) M10x15
B02BT0000100020 AT 2 RABT (&) M10x20
B02BT0000100025 ATV RABT (£) M10x25
B02BT0000100030 AT 2 RABT (£) M10x30
B02BT0000100035 AT 2 RABT (£) M10x35
B02BT0000100040 AT 2 RABT (£) M10x40
B02BT0000100045 AT 2 RABT (&) M10x45
B02BT0000100050 AT 2 RABT (&) M10x50
B02BT0000100055 AT ¥ RABT (£) M10x55
B02BT0000100060 AT 2 RABT (£) M10x60
B02BT0000100065 AT 2 RABT (£) M10x65
B02BT0000100070 AT 2 RABT (£) M10x70
B02BT0000100075 AT 2 RABT (&) M10x75
B02BT0000100080 AT 2 RABT (&) M10x80
B02BT0000100090 AT 2 RABT (£) M10x90
B02BT0000100100 AT 2 RABT (£)M10x100
B02BT0000100120 AT 2 RABT (£)M10x120
B02BT0000120020 AT 2 RABT (&) M12x20
B02BT0000120025 AT 2 RABT (&) M12x25
B02BT0000120030 AT 2 RABT (&) M12x30
B02BT0000120035 AT 2 RABT (£) M12x35
B02BT0000120040 AT 2 RABT (£) M12x40
B02BT0000120045 AT 2 RABT (&) M12x45
B02BT0000120050 AT 2 RABT (£) M12x50




B02BT0000120055 AT 2 RABT (&) M12x55
B02BT0000120060 AT 2 RABT (£) M12x60
B02BT0000120065 AT 2 RABT (&) M12x65
B02BT0000120070 AT 2 RABT (&) M12x70
B02BT0000120075 ATV RABT (&) M12x75
B02BT0000120080 AT 2 RABT (£) M12x80
B02BT0000120085 AT 2 RABT (&) M12x85
B02BT0000120090 AT 2 RABT (&) M12x90
B02BT0000120095 AT 2 RABT (&) M12x95
B02BT0000120100 AT 2 RABT (£)M12x100
B02BT0000120150 AT 2 RABT (£) M12x150
B02BT0000160025 AT 2 RABT (&) M16x25
B02BT0000160030 AT 2 RABT (£) M16x30
B02BT0000160035 AT 2 RABT (&) M16x35
B02BT0000160040 AT 2 RABT (&) M16x40
B02BT0000160045 AT 2 RABT (&) M16x45
B02BT0000160050 AT 2 RABT (£) M16x50
B02BT0000160055 AT 2 RABT (£) M16x55
B02BT0000160060 AT 2 RABT (£) M16x60
B02BT0000160065 AT 2 RABT (&) M16x65
B02BT0000160070 AT 2 RABT (&) M16x70
B02BT0000160075 AT 2 RABT (&) M16x75
B02BT0000160080 AT ¥ RABT (£) M16x80
B02BT0000160090 AT 2 RABT (£) M16x90
B02BT0000160100 AT 2 RABT (£)M16x100
B02BT0116500012 AT RABT (£)5/16x12
B02BT0121000020 AT 2 RABT (&) 1/2x20
B02BT0121000025 AT 2 RABT (&) 1/2x25
B02BT0121000030 ATV RABT (£) 1/2x30
B02BT0121000035 AT 2 ANHBT (£) 1/2x35
B02BT0121000040 AT 2 ARHBT (£) 1/2x40
B02BT0121000045 AT RABT (£) 1/2x45
B02BT0121000050 AT 2 RABT (£) 1/2x50
B02BT0121000055 AT 2 RABT (£) 1/2x55
B02BT0121000060 ATV RABT (£) 1/2x60
B02BT0121000070 AT 2 ANHABT (£) 1/2x70
B02BT0121000075 AT 2 ANHBT (£) 1/2x75
B02BT0121000080 AT RABT (£) 1/2x80
B02BT0121000090 AT 2 RABT (£) 1/2x90
B02BT0121000100 ATV RABT (£) 1/2x100
B02BT0121000120 ATV RABT (£) 1/2x120
B02BT0183000015 AT 2 AHBT (£) 3/8x15
B02BT0183000016 AT 2 AHBT (£) 3/8x16
B02BT0183000020 AT 2 RABT (£) 3/8x20
B02BT0183000025 AT 2 RABT (£)3/8x25
B02BT0183000030 AT 2 RABT (£) 3/8x30
B02BT0183000035 AT RABT (£) 3/8x35
B02BT0183000040 AT 2 ANHBT (£) 3/8x40
B02BT0183000045 AT 2 ARHBT (£) 3/8x45
B02BT0183000050 AT 2 RABT (£) 3/8x50
B02BT0183000055 AT 2 NABT (£) 3/8x55
B02BT0183000060 AT 2 RABT (£) 3/8x60
B02BT0183000065 AT RABT (£) 3/8x65
B02BT0183000070 AT 2 ANHBT (£) 3/8x70
B02BT0183000075 AT 2 ANHBT (£) 3/8x75
B02BT0183000080 AT 2 RABT (£)3/8x80




B02BT0183000090 AT 2 AHBT (£) 3/8x90
B02BT0183000100 AT 2 RABT (£)3/8x100
B02BT0183000125 AT RABT (£)3/8x125
B02BT2183000150 AT RABT () 3/8x150
B02DT0000050020 AT 2 B¥EEEBT M5%20
B02DT0000050025 AT 2 Bi¥4RBT M5%25
B021B0000080015 AT 7ABT M8x15

B021B0000100018

AT 7ABT M10x18

B021B0000120022

AT 7ABT M12x22

B021B0000160027

AT 2 7ABT M16x27

B02IB0116500015

AT 7ABT5/16x15

B021B0121000050

AT TABT 1/2x22

B021B0183000018

AT 7ABT3/8x18

B021B1121000050

ATV FTABT (& 1/2%50

B021B1183000030

AT 7ABT (B& 3/8%x30

B021B1183000050

25> 74BT (B& 3/8x50

B02TT0000040008 AT 2 HEBT M4x8
B02TT0000040010 AT 2 8EBT M4x10
B02TT0000040012 AT 2 8RBT M4x12
B02TT0000040015 AT 2 BT M4x15
B02TT0000040020 AT 2 BT M4x20
B02TT0000050010 AT 2 88BT M5x10
B02TT0000050015 AT 2 8EBT M5x15
B02TT0000050025 AT 2 BEBT M5x25
B02TT0000060015 AT 2 BEBT M6x15
B02TT0000060020 AT 2 BEBT M6x20
B02TT0000060025 AT BEBT M6x25
B02TT0000060050 AT BT M6x50
B02UB0000060008 AT 2 UBT M6%8A
B02UB0000060010 AT 2 UBT M6x10A
B02UB0000060015 AT 2 UBT M6x15A
B02UB0000080015 AT 2 UBT M8x15A
B02UB0000080020 AT 2 UBT M8x20A
B02UB0000080040 AT 2 UBT M8x40A
B02UB0000080065 AT > UBT M8x65A
B02UB0000100015 AT 2 UBT M10x15A
B02UB0000100020 AT 2 UBT M10x20A
B02UB0000100025 AT 2 UBT M10x25A
B02UB0000100032 AT 2 UBT M10x32A
B02UB0000100080 AT 2 UBT M10x80A
B02UB0000100090 AT 2 UBT M10x90A
B02UB0000120125 AT 2 UBT M12x125A
B02UB0000120150 AT 2 UBT M12x150A
B02UB0183000065 AT 2 UBT 3/8x65A
B03BT0000060010 JBA—kARABT (£) M6x10
B03BT0000060012 JBAA—FKRABT (£) M6x12
BO3BT0000060014 P BA—KKRABT (£) M6x14
B03BT0000060015 P8 X—kARABT (&) M6x15
B03BT0000060020 2B A—kKRABT (£) M6x20
B03BT0000060022 J0A—k ARABT (£) M6x22
B03BT0000060025 Y BA—k RABT (£) M6%x25
BO3BT0000060030 Y BA—kKRABT (£) M6%30
B03BT0000060035 Y BA—kKRABT (£) M6%x35
B03BT0000060040 28X X—kARABT (&) M6x40
B03BT0000060045 JBXA—kKRABT (&) M6x45
B0O3BT0000060050 JBA—k ARABT (£) M6x50




B03BT0000060055 2B X—kKRABT (£) M6x55
BO3BT0000060060 J0A—k ARABT (£) M6x60
BO3BT0000060065 Y BA—k RABT (£) M6%65
B03BT0000060070 Y BA—kKRABT (£) M6x70
B03BT0000060075 P BA—KKRABT (£) M6x75
B03BT0000060080 28X X—kARABT (£) M6x80
B03BT0000060090 28—k KRABT (£) M6x90
B0O3BT0000060100 J0A—kARABT (£) M6x100
B03BT0000080010 JBA—kARABT (£) M8x10
B03BT0000080012 JBAA—FKRABT (£) M8x12
BO3BT0000080015 Y BA—KKRABT (£) M8x15
B03BT0000080016 P8 X—kARABT (&) M8x16
B03BT0000080020 28—k KRABT (£) M8x20
B03BT0000080025 J0A—k RABT (£) M8x25
B0O3BT0000080030 JBA—kARABT (£) M8x30
B0O3BT0000080035 Y BA—kKRABT (£) M8x35
B03BT0000080040 Y BA—FKKRABT (£) M8x40
B03BT0000080045 2B X—kARABT (&) M8x45
B03BT0000080050 2B A—kKRABT (£) M8x50
BO3BT0000080055 J0A—k RABT (£) M8x55
B0O3BT0000080060 Y BA—KRABT (£) M8x60
BO3BT0000080065 Y BA—k KRABT (£) M8x65
B03BT0000080070 Y BA—kKRABT (£) M8x70
B03BT0000080075 P8 X—kARABT (&) M8x75
B03BT0000080090 28X X—kKRABT (£) M8x90
BO3BT0000080100 J0A—kARABT (£) M8x100
B03BT0000100016 J0A—kARABT (&) M10x16
B03BT0000100020 Y AA—kKRABT (£) M10x20
B0O3BT0000100025 Y AA—kKRABT (£) M10x25
B03BT0000100030 P8 X—kFARABT (£) M10x30
B03BT0000100035 P8 A—kKRABT (£) M10x35
B03BT0000100040 J0A—kARABT (£) M10x40
B03BT0000100045 I A=k RABT (£) M10x45
B0O3BT0000100050 Y AA—kKRABT (£) M10x50
BO3BT0000100055 Y AA—kRABT (£) M10x55
B03BT0000100060 P8 X—kFARABT (£) M10x60
B03BT0000100065 P8 X—kKRABT (&) M10x65
B03BT0000100070 J0A—kARABT (£) M10x70
B03BT0000100075 JBA—k RABT (&) M10x75
BO3BT0000100080 Y AA—kKRABT (£) M10x80
BO3BT0000100085 Y AA—kKRABT (£) M10x85
B03BT0000100090 P8 X—kFARABT (£) M10x90
B03BT0000100100 Y OA—kRABT (£)M10x100
B03BT0000120020 70—k ARABT (&) M12x20
B03BT0000120025 JBA—k RABT (&) M12x25
B03BT0000120030 Y AA—kKRABT (£) M12x30
BO3BT0000120035 Y AA—kKRABT (£) M12x35
B03BT0000120040 P8 X—kFARABT (£) M12x40
B03BT0000120045 P8 A—kKRABT (&) M12x45
B03BT0000120050 J0A—k RABT (£) M12x50
B03BT0000120055 JBA—k RABT (&) M12x55
B03BT0000120060 Y AA—kKRABT (£) M12x60
B0O3BT0000120065 Y AA—KKRABT (£) M12x65
B03BT0000120070 P8 X—kFARABT (£) M12x70
B03BT0000120075 P8 A—kKRABT (&) M12x75
B03BT0000120080 J0A—kARABT (£) M12x80




B03BT0000120090 P8 X—kFARABT (£) M12x90
B03BT0000120100 PO —KKRABT (£)M12x100
Z00Z70000061000 a=4% 0 ~4) M6x1000
Z00Z70000081000 a=4% 0 ~t4) M8x1000
Z00Z70000101000 a=%0 8 M10x1000
Z00ZT1T0000101500 a=%90 4) M10x1500
Z00ZT1T0000102000 a=% 0 4 M10x2000
Z00ZT7T0000121000 a=%70 ~4) M12x1000
Z00ZT0000121500 a=4% 0 ~T48) M12x1500
Z00ZT7T0000122000 a=4% 0 14 M12x2000
Z00Z70000161000 a=4%0 18 M16x1000
Z00ZT1T0000201000 a=%0 ~4) M20x1000
Z00ZT0121000060 a=%0 4] 1/2x60
Z00ZT70121000100 a=%70 4] 1/2x100
Z00ZT70121000110 a=40 ~48 1/2x110
Z00ZT70121000130 a=4%0 141 1/2x130
Z00Z70121000150 a=%70 4] 1/2x150
Z00ZT70121001000 a=%20 ~+4) 1/2x1000
Z00ZT0121001500 a=%90 ~+4) 1/2x1500
Z002T0121002000 a=%0 4] 1/2x2000
Z002T70121002500 A=/ 0 T4 1/2x2500
Z00ZT70121003000 2=/ 0 74) 1/2x3000
Z00Z70183000030 a=% 0 14 3/8x30
Z00ZT7T0183000035 a=% 0 1) 3/8x35
Z00ZT0183000040 2 =% 0 14 3/8x40
Z00Z70183000050 a=% 0 s+ 3/8x50
Z00Z70183000060 a=% 0 <14 3/8x60
Z00ZT70183000070 a=4% 0 14 3/8x70
Z00Z70183000090 a=% 0 14 3/8x90
Z00ZT0183000095 a=% 0 1) 3/8x95
Z00ZT0183000110 a=%0 4] 3/8x110
Z00ZT0183000120 2=/ 0 1) 3/8x120
Z00ZT0183000130 a=4% 0 4] 3/8x130
Z00ZT70183000140 a=4% 0 14 3/8x140
Z00Z70183001000 a=% 0 4] 3/8x1000
Z00ZT70183001500 a=% 0 4] 3/8x1500
Z00ZT0183002000 a=%0 4] 3/8x2000
Z00ZT0183002500 a=% 0 1) 3/8x2500
Z00Z70183003000 a=/% 0 <74 3/8x3000
Z00Z70185003000 2=/ 0 <74) 5/8x1000
Z01KB0000120350 KT 4 S AILTH (M12x350 fihH v b
Z012T10000081000 FJ <41 M8x1000
Z01ZT1T0000101000 k2 <tt] M10x1000
Z01ZT1T0000101500 FJ <t41 M10x1500
Z012T70000102000 FJ <t41 M10x2000
Z017T70000120120 K2 <tt] M12x120
Z01Z70000121000 K27 s+4] M12x1000
Z012T10000121500 FZ <tt] M12x1500
Z012T1T0000122000 k2 <tt] M12x2000
Z012T1T0000161000 FJ <t41 M16x1000
Z012T70000201000 FJ <t41 M20x1000
Z017T70121001000 K2 <tt] 1/2x1000
Z017Z70121001500 K2 s+ 1/2x1500
Z01270121002000 k2 st4] 1/2x2000
Z017T70183001000 k2 <tt] 3/8x1000
Z017T70183001500 FJ <41 3/8x1500




Z012T70183002000 k2 <t4] 3/8x2000
Z017T70185001000 FJ 4] 5/8x1000
Z01772185001000 K J <t41 (UNC 5/8x1000
Z027T70000061000 AT 2 5T M6x1000
Z02770000081000 AT 2 5T M8x1000
Z027T10000101000 AT 2 59 M10x1000
Z027T1T0000101500 AT > 5T M10x1500
Z027T1T0000102000 AT > 5T M10x2000
Z027T70000121000 AT 2 5T M12x1000
Z027T70000121500 AT 2 5T M12x1500
Z02770000122000 AT 2 5T M12x2000
Z027T10000161000 AT 2 5t M16x1000
Z027T70116501000 AT~ 5/16x1000
Z027T70121001000 AT 2 5T 1/2x1000
Z027T70121001500 AT 2 5TH) 1/2x1500
Z027T70121002000 AT 2 5TH) 1/2%2000
Z02770141001000 AT 2 5TH) 1/4%x1000
Z027T70183000040 AT v 1] 3/8x40
Z027T70183000050 AT v 1] 3/8x50
Z027T70183000070 AT 2 1) 3/8x70
Z027T70183000080 AT 2 ) 3/8%80
Z027T70183000100 AT 2 5t 3/8%x100
Z02770183000110 AT 2 51H) 3/8%x110
Z027T10183000130 AT 2 1Y) 3/8%x130
Z027T70183000140 AT v 11 3/8x140
Z027T70183000150 AT 2 1) 3/8x150
Z027T70183000200 AT 2 5t 3/8%x200
Z027T70183001000 AT 2 1) 3/8%x1000
Z027T70183001500 AT 2 1) 3/8%x1500
Z027T70183002000 AT 2 1) 3/8%x2000
Z027T70343001000 AT 514 3/4x1000
Z047T72185001000 fx 4 H#h <+ 4] (UNC 5/8x1000




